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10,000 100.0 3,883 38.8
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2,000 787 9.48 7,464 43.9%
2,000 810 2.10 1,698 10.0%
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2,000 721 1.00 721 4.2%
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1,774 7,649 45.0%
2,068 9,180 54.0%
38 162 1.0%
20 267 1,173 6.9%
30 534 2,658 15.6%
40 726 3,235 19.0%
50 864 3,701 21.8%
60 982 4,145 24.4%
70 472 1,931 11.4%
35 148 0.9%
1,758 8,331 49.0%
924 3,786 22.3%
1,132 4,599 27.1%
66 275 1.6%
47 194 1.1%
221 984 5.8%
10 222 1,084 6.4%
10 3,320 14,419 84.9%
70 310 1.8%
201 703 4.1%
531 2,462 14 5%
760 3,453 20.3%
181 847 5.0%
134 655 3.9%
90 458 2. 7%
284 1,174 6.9%
194 823 4.8%
172 704 4.1%
37 164 1.0%
1,047 4,585 27.0%
114 478 2.8%
135 484 2.8%
10,000 3,880 16,991 100.0
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17,000 0.3 0.5 0.5 0.6 0.7 0.7 0.7 0.8 0.8 0.8
10, 000 0.4 0.6 0.7 0.8 0.9 0.9 1.0 1.0 1.0 1.0
5, 000 0.6 0.8 1.0 1.1 1.2 1.3 1.3 1.4 1.4 1.4
1,000 1.4 1.9 2.3 2.5 2.1 2.9 3.0 3.1 3.1 3.2
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1.99 396
5 95 1,900 475 211 119
B 10,90 3,600 900 400 225 144
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